
1  Assemble M6 x 40mm 1mm pitch Bolt & M6 Washer fthrough the moulded 

bobbin.

2 Tighten bolts to swing arm boss, 8 Nm.

PADDOCK STAND BOBBINS

FITTING INSTRUCTIONS
TO BE FITTED BY A QUALIFIED TECHNICIAN

Part Nos. BA12M-6-GBR-SET / BA12M-8-GBR-SET / BA12M-10-GBR-SET / BA12M-10-1-5-GBR-SET / BA12M-6-RSV4-GBR-SET  

THIS SHEET INCLUDES FITTING INSTRUCTIONS FOR THE FOLLOWING PARTS:

PADDOCK STAND / BOBBIN SET - PART NO. BA12M-6-GBR-SET

1 x Moulded Paddock 
Stand / Bobbin 

1 x Moulded Paddock 

1 x M6 x 40A2 Bolt    Washer

1 x Moulded Paddock 
Stand / Bobbin 

1 x M6 x 40A2 Bolt   Washer

1  Assemble M8 x 40mm 1.25 mm pitch Bolt through the moulded bobbin.

2 Tighten bolts to swing arm boss, 8 Nm.

 DO NOT OVERTIGHTEN

PADDOCK STAND / BOBBIN SET - PART NO. BA12M-8-GBR-SET

1 Assemble the M10 x 40mm 1.25 mm pitch Bolt through the moulded bobbin.

2 Tighten bolts to the swing arm boss, 8 N/m.

 DO NOT OVERTIGHTEN.

PADDOCK STAND / BOBBIN SET - PART NO. BA12M-10-GBR-SET

1 x Moulded Paddock 
Stand / Bobbin 

1   Assemble the M10 x 40mm 1.5 mm pitch Bolt through the moulded bobbin.

2 Tighten bolts to the swing arm boss, 8 N/m.   DO NOT OVERTIGHTEN.

PADDOCK STAND / BOBBIN SET - PART NO. BA12M-10-1-5-GBR-SET

PADDOCK STAND / BOBBIN SET – PART NO. BA12M-6-RSV4-GBR-SET

1  Assemble M6 x 40mm 1 mm pitch Bolt & M6 Washer for the 

right hand side through the moulded bobbin.

2  Assemble M6 x 50mm Bolt & M6 washer for the 

left hand side through the moulded bobbin.

This is to allow for the refi tment of the original lower chainguard.

3 Tighten bolts to swing arm boss, 8 N/m.

1 x Moulded Paddock 
Stand / Bobbin 

1 x Moulded Paddock 

www.GBRacing.eu
DO NOT use these products unless you agree to our Terms & Conditions, as shown on our paperwork and website. If you do not agree, please return the product(s) to your dealer for a refund.

1 x Moulded Paddock 
Stand / Bobbin 

1 x Moulded Paddock 1 x Moulded Paddock 

1 x M10 x 40A2 Bolt           

1 x Moulded Paddock 
Stand / Bobbin 

1 x Moulded Paddock 

1 x M10 x 1.25 x 40A2 Bolt        

1 x Moulded Paddock 
Stand / Bobbin 

1 x Moulded Paddock 

1 x M8 x 40A2 Bolt        


